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2.5.1 Organisational structures
1.	Explain what is meant by a “zero-hours” contract. (3 marks)Zero-hours contracts
Workers on zero-hours contracts lose an estimated £1,000 a year compared with employees doing the same work, according to a study that underscores the divide between people in precarious jobs and those who have a permanent contract.
The Resolution Foundation said all workers who find themselves without a permanent, full-time role lose out in terms of wages, but people hired on zero-hours contracts suffer the biggest financial punishment.
The think tank said its research showed that workers on zero-hours contracts faced a “precarious pay penalty” compared with other workers doing similar jobs.
The pay penalty directly associated with zero-hours work amounted to 6.6% or 93p an hour. For a typical zero-hours worker doing 21 hours a week, it amounts to £1,000 a year. An examination of workers in low-paid roles revealed a bigger penalty of 9.5%.
The foundation said its analysis were the first to pinpoint a specific penalty associated with zero-hours contracts.
It said it was well known that zero-hours workers earned less than permanent employees – 38% an hour less on average – but it had previously been assumed this was down to their concentration in low-paying sectors, and younger and less experienced staff.
Source: The Guardian, 30 December 2016

 	
 	
 	
	
 	
	
 	



2.	What are the benefits to the employer of using “zero-hours” contracts with its staff? (6 marks)
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Deliveroo riders protest against changes to pay structure

. Delivery riders are rebelling against plans to pay Fahran, who delivers for the firm on his

: workers £3.75 per delivery instead of an hourly rate motorcycle, said removing the hourly rate would

: of £7 plus £1 per delivery. Outside the Deliveroo cause him to struggle. ‘My phone contract is the

: headquarters more than 100 self-employed same, insurance is the same - everything else is

: workers gathered calling for the company to keep fixed,” he said. | have two children and | need to pay

. the hourly rate. Riders said they often earned less for them. They are forcing people to take benefits.’

Ine it T ained (g gy [current_ly (I & Amir Ali started striking on Thursday. He said it had
hour) once their expenses were taken into account. b
een a good place to work under the old pay terms.
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‘£7 an hour was okay and if you worked hard, it was

: good. But now they are cutting it below the basic

wage,” he said. 'We work in snow, we work in rain.

: They don't give you a place to sit down.

One rider who covers central London said that
he thought the company was trying to reduce

: its costs to boost profits. "We risk our lives

believed he would earn less under the new rules.

every day for the job. Deliveroo is a great start-
up but without us it is nothing.” He said he

: ‘'Sometimes you might be hanging round for an
: hour for a delivery, he said. ‘August is a really

quiet month - in winter time, when people get
lazy, you do better. It varies. We need something
a bit more consistent, something more reliable.
We have kids, we have rent, we can't deal with

* uncertainty.’

Deliveroo, which raised £212 million from venture
: capital investors this month, said it would roll out

the pay terms from next week and claimed that
couriers had responded positively in early trials.

Source: The Guardian, 11 August 2016

Within a week of this article being written,

: Deliveroo backed down on this new pay deal

in the face of bad publicity about the way the
company was pushing risk down to the riders.

Total: 15 marks

1 Define the term ‘venture capital’. (1
2 Qutline one reason why the delivery riders
disliked the new Deliveroo deal. (2)

3 Outline one benefit to the business of using
self-employed riders instead of employing

them permanently. (2)
4 State which month is the ‘really quiet” one,
according to delivery riders. ()

5 Deliveroo is considering how to avoid

such bad publicity in future. It sees two

options:

¢ Option 1: Arrange weekly meetings with
an elected representative of the delivery
riders.

¢ Option 2: Tell the riders that they must sign
zero-hours contracts instead of being self-
employed from now on.

Justify which one of these two options the

company should choose. (F)f
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